Algebra 2 







Name: _________________________
Unit 7, Day 10







Date: ______________ Period: _____
Long Division of Polynomials
	5
	=
	____________

	126
	=
	____________

	___
	=
	____________

	___
	=
	____________


(Recall how to divide numbers.

Example #1:   126 ( 5 = _________
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Example #2:

Let 
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Example #3:

Let 
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Example #4:

Let 
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 and 
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.  Find 
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	Division Algorithm
	Example
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Example #5:

Let 
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 and 
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.  Find 
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(We must include ________ coefficient placeholders for ________________ terms.  
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Find 
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 for the following polynomials.
	Exercise #6
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	Exercise #7
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 Mixed Practice:  
	1.  Given 
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 and 
[image: image43.wmf]()

dx

, find 
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 by long division.

	a)  
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	b)  
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	c)  
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	d)  
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	2.  Find a standard (expanded) form equation of a polynomial with the given zeros. 

	a)  cubic polynomial with zeros x = –5 and –4i.


	b)  quartic polynomial with zeros x = 
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	4.  Simplify.  Write answers in 
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	a)  
[image: image68.wmf](

)

2

73

i

-



	b)  
[image: image69.wmf]6

9

i

i

+


	c)  
[image: image70.wmf]52

13

i

i

-

+



	5.  Evaluate.

	a)  
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	6.  Factor completely across the rationals.
	7.  Simplify.

	a)  
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	c)  
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	8.  Determine all the zeros and sketch the graph of 
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	a)  
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Degree: ___

Zeros: ____________



	b)  
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Degree: ___

Zeros: ____________




Since there is a __________________, 5 is not a _______________ of 126.
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Since � EMBED Equation.DSMT4  ���, then � EMBED Equation.DSMT4  ��� is __________ a factor of � EMBED Equation.DSMT4  ���.





_________________
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